Posts at culvert spaced 0’/};'
at 37, (953) centers Q@
4 (102) 4 (102) /\
“ min. I_’A min. W
: : : : e W s a__ i i i i i ,
AN | 3 I j
12 (300) 12 (300)
min. L’A min.
50’ (15.24 m) min. of other guardrdgil fype required prior to barrier terminal. 6'-3" 6'-3" 50’ (15.24 m) min. of other guardrdil fype required prior to barrier terminal
(non-blocked guardrail shown) (1.91 m) ' (1.91 m) (blocked guardrail shown)
Pay limits of Guardrail Attached fo Culvert
See DETAIL A for
1% PLAN attatchment to
@) Steel post . post.
70 xx,
y Y (5) both ends
/§ (10) — e /e ” Steel d Iy E—
dia. N3 post \
Post Post Y !! .-a\“‘qg
standoff standoff 76 ] ~= Culvert
(14) ” head wall
o~
_\“TQ 70 xx, 1 B E%
3 ~
| — | both ends Yo (5) DETAIL B “| Slope 1:10 or
| - I flatter
16
(14)
SQUARE WASHER A Steel socket. See
| LA | Cases I - VI for
S3x5.7 (S76x8.5) o assembly and o
(27%1) | / steel post \ mounting details
< |E
E[ﬁ |:| ?Pg ” Post sfondoffx See DETAIL B
= M= | for welding
. ﬂ@ N of post standofs
Steel backup plate EOUARE WA‘SHER A Wl'ﬂ" | ”
nested between /s (7.9) dia. UNC, 17/ |:|—[
guardrail and steel (31;:]8) '0:9 hex bolt POST |:| B %t
post. HIl and nut. =~
AL STANDOFF I N NNV
T :
R ” dia.
LAVE _ s
| ==
—gliey S v SIS
A | =R &7 ° SECTION A-A
R I _ GENERAL NOTES
0, 1 ” _,\g See Standard 630001 for details of guardrail not
i shown.
|| Lu
Steel plate beam | See Standard 630006 for detalls of non-blocked
quardrail ” 3 guardrail not shown.
Sf:eel aosf at —I(YG) ~ Post standoff
culver All threaded rods and bolts shall be installed with
STEEL POST heavy hex nuts and standard washers unless noted
DETAIL A - otherwise.

All dimensions are in inches (millimeters)
unless otherwise shown.

124
(311)
I
J
|

6,
(156)

DATE REVISIONS
Tinois De i WEAK POST
partment of Transportation

; GUARDRAIL ATTACHED

PASSED January 1, 2017

152 TO CULVERT
ENGINEER OF 'POLICY AND PROCEDURES S (Sheet 1 of ©)
APPROVED January 1, 2017 n BACKUP PLATE
e % : STANDARD 630111

ENGINEEROF DESIGN AND ENVIRONMENT




Two ¥4 x 7 (M19 x 178)
threaded rods secured
12 (305) withchemical adhesive
Steel min.
post |
- /One Ya (19) ]

expansion bolt m

Foi giiaki
5 _/ | $§ - } H
(ﬁ’lg ><5 127 ||| | |_|_.V / |_| | |_|
hex bolt || | ”
and nut | |

R
_/////////| | \\<::i/_
Socket |

|
|
o
!
i

NN
S|z
o [e)
assembly | ; \\ L TT
[
Two Y2 x 2 ——//// | 1>
(M13 x 50) hex ' T (38)
bolts and nuts \_
For R greater than 3 (76) provide
| BRACKET A. For R less than or
Greater of 5/ (140) equal to 3 (76) provide BRACKET B.
or R+2/2 (R+64) (BRACKET A shown)
* R varies between 0 to 6 (152)
CROSS SECTION ELEVATION

CASE I, (H+T-R) < 18 (457), TOP MOUNT

Illinois Department of Transportation

PASSED January 1, 2017

ENGINEER OF ‘POLICY AND PROCEDURES
APPROVED January 1, 2017

LRucer )
ENGINEER,OF DESIGN AND ENVIRONMENT

L1-1-T Q3nsSI

/ GUSSET B

T
T
7
N
X
o
x
IS
//1

™

% (10 J0 o
|2

3% (10)

TOP VIEW
4
102)
2|
(51) r
£ LR
' 12
N
3 | | \ Y2 19
lé—— dia
a0 |'_ | :
) |
e
I
|
I
| ﬂ
| A
70 xx >—|>~3/8 )
SIDE VIEW

70 xx

/PLATE E
/
% (10>B <O xx

I

7 T
05 o)

AN

PLATE C
_\\\\\\ o

I
i
L
|
|
|
|
|
|
|
|
|
|

O

2 R

(51

FRONT VIEW

SOCKET ASSEMBLY

FOR

CASE |

(51)

WEAK POST

TO CULVERT

GUARDRAIL ATTACHED

(Sheet 2 of 6)

STANDARD 630111




W 3
5 G058 min Two ¥ (19) threaded

Steel rods. Length shall be
post . W + 4 (102). "
N\E
/ |

SQUARE WASHER B ‘
/ M
|

~ B
% x 5 _— ‘q ! / S Ly ”_
~ ju
(M16 x 127) T — —==53 - © || I || o
hex bolt H i H
and nut | " ||
R“ — ||‘|_|.|_|'||
| IR |
/| \ S|z | |
Socket % J ol PN
assembly |/} L \ o |—|-|_| o
One ¥; (19) - 1
| expansion bolt
Two Yo x 2 —/ | 1Y/2
(M13 x 50) hex ' T (38)
bolts \
For R greater than 3 (76) provide
| BRACKET A. For R less than or
Greater of 5/z (140) equal to 3 (16) provide BRACKET B.
or R+2/z (R+64) (BRACKET A shown)
* R varies between 0 to 6 (152)
CROSS SECTION ELEVATION

CASE II, (H+T-R) < 18 (457), SIDE-MOUNT THROUGH-BOLT

12 (305)
Steel min Two ¥4 x 11 (M19 x 279
post _ /fhreoded rods secured |
N\g with chemical adhesive "
I LL
11 T L i
JS
% x 5 _/ {E . _ .| H ﬂ_
(M6 x 127) T — — - © || || o
hex bolt H 1 H
and nut 9 || [
229 | I |
R* — ||'|_l|_|'||
|| IEE |
| ] il
Socke:;I :::;(:/ \ ° I‘|‘|’| °
assembly | One ¥ (9 | -
| expansion bolt
Two Y5 x 2 —/ 1/,
(M13 x 50) hex T (38)
bolts \
For R greater than 3 (76) provide
| BRACKET A. For R less than or
Greater of 5/z (140) equal to 3 (76) provide BRACKET B.
or R+2/z (R+64) (BRACKET A shown)
* R varies between 0 to 6 (152)
CROSS SECTION ELEVATION

CASE Ill, (H+T-R) < 18 (457), SIDE-MOUNT ANCHORED

Illinois Department of Transportation

PASSED January 1, 2017

ENGINEER OF ‘POLICY AND PROCEDURES
APPROVED January 1, 2017

LRucer )
ENGINEER,OF DESIGN AND ENVIRONMENT

L1-1-T Q3nsSI

GUSSET C

HHS 4 x 4 x 34

GUSSET C

2/,
(64)

[
|
Yy (19)—/|
dia. Y% |
10)

70 xx >—|7—’|/4 )
70 xx >—|7—’% )

(5D T

1 E (
D) 70 xx

(203)

Varies

SIDE VIEW

3% (10)

[ [
ik
70 xXx % (10) | |
N
PLATE D ‘——"l\ l"——'
ol | o
N
(76) | | 76
70 XX>—T% 10) : :
PLATE C NN
\ O | | o
|

S R

(5D
70 xx

SOCKET ASSEMBLY
FOR CASES 11 & 1l

(51)

FRONT VIEW

WEAK POST

GUARDRAIL ATTACHED

TO CULVERT

(Sheet 3 of 6)

STANDARD 630111




12 (305)

Steel
post \’W
F \ |
G:
% x 5 —/ ?E T

M16 x 127) ||

hex bolt || m|S
and nu‘r/ || | Tl
Socket H

assembly | / _—

4y, -
(114)
R
Two 'Y x 7 (MI3 x 178)
threaded rods secured

with chemical adhesive

* R varies between 0 to 6 (152)

CROSS SECTION
CASE IV, (H+T-R) >

min. /—Two Yp x T (MI9 x 178)
threaded rods secured
with chemical adhesive |

T
Iy
Iy

ELEVATION
18 (457), TOP MOUNT

Illinois Department of Transportation

PASSED January 1, 2017 —

) a

c

ENGINEER OF ‘POLICY AND PROCEDURES g

APPROVED January 1, 2017 Z

]

e 27 3
ENGINEEROF DESIGN AND ENVIRONMENT

§]§

/ GUSSET B

HHS 4 x 4 x 3% T &

[~ o

\ 111

17

2/
(64)

TOP VIEW
4
(102) %0
%_ r % (10) X%
\ng R
e | | T 1 |
N
v || | N ¥y 19
/B——— dia
_\N§ (10) | | :
Qs
I
I
| q
| A
70 xXx >—‘>~% 10 — o
B
SIDE VIEW

/PLATE E
0O —‘>—<% 10 70 xx

H

1

[

[l

|

|

70 xx )57 |
VT |

|

l

|

PLATE B~ L

|
i
|
|
|
|
|
|

FRONT VIEW

SOCKET ASSEMBLY

FOR CASE IV

WEAK POST
GUARDRAIL ATTACHED
TO CULVERT

(Sheet 4 of 6)

STANDARD 630111




W

3
5305 min Two ¥4 (19) threaded rods

Steel secured with chemical adhesive.
post _ Length shall be W + 4 (102). |
N\‘L’ / SQUARE WASHER B
iy 1
l | / 5 e '”3 GUSSET ¢ _
% x 5 /|,_' _L S| =1 = i
M16 x 127) || o — ———H= - - O||”||O
hex bolt i NE i HHS 4 x 4 x %
and hu‘f‘/”| || T || ” ”
Socket “2- J‘I:H_H
assembly | ), _ o o |
/ 4. — GUSSET C
(114) .
R
Two Yo x T (MI3 x 178) \(
threaded rods secured
with chemical adhesive TOP VIEW
* R varies between 0 to 6 (152) 4
(102)
CROSS SECTION ELEVATION 2 |
(51) 70 xX
/4 (6)
CASE V, (H+T-R) > 18 (457), SIDE-MOUNT, THROUGH-BOLT I= T ] 70 XX>—I>X| |
s % 10
R I
—toe | 10
1
Y, a9 — |/?/ N
d?o, | ' j PLATE D\'_O_| |_OA
Two ¥ x 11 (MI19 x 279 70 xx >—|7—/ A
12m(i_:;(-)5) /_T‘xrea“defj ‘rods s:ol_[red /a (6) |/T 7 I I §$
Steel _ with chemical adhesive | 20 xx | | 3 | | 3 1N
post - 3 (10) >—‘7—
f (10 N
: LEM”FQ | | ®| PLATE A\ l\\ i
5 — . 1 9= I ﬂ % o o)
% x 5 |._ L <z - =1 | /r || ||
(M16 x 127) || ot — T - Ooll, lle
[

(330)

— ] Iy 1
h bolt H 2 2
ond ||| (229) [l 70 ><><>—‘>_/ 5D I_ _J )
’ = ” % 10 70 xx
||| | I 3% (10)
Socket 1H ..

assembly

FRONT VIEW

SIDE VIEW

SOCKET ASSEMBLY
FOR CASES V & VI

Two 'Y x 7 (MI3 x 178)
threaded rods secured
with chemical adhesive

* R varies between 0 to 6 (152)

CROSS SECTION ELEVATION

CASE VI, (H+T-R) > 18 (457), SIDE-MOUNT ANCHORED

WEAK POST

Tlinois Department of Transportation GUARDRA"_ ATTACHED

PASSED January 1, 2017

TO CULVERT

(Sheet 5 of 6)

ENGINEER OF ‘POLICY AND PROCEDURES
APPROVED January 1, 2017

LRucer )
ENGINEER,OF DESIGN AND ENVIRONMENT

STANDARD 630111

L1-1-T Q3nsSI




3
v, 76
56 l—
2'/a I R
(57 33%
1 ) :
GUSSET A
2
Y 5D
a»] [~
T _
% ™M
T23)" I— _\L
2
L1 |
I
GUSSET B
2%
s ®7)
ol
N \ ge
2Y/. o
g
[ ]
f
GUSSET C
3
76)
1/2
(38)
T (22) —~__

did. \\\\7’\\
+ 2]

(76)

1!

(38)
Ve
U

(6)

~

f
SQUARE WASHER B

Illinois Department of Transportation

PASSED January 1, 2017 —
) a

c

ENGINEER OF ‘POLICY AND PROCEDURES g
APPROVED January 1, 2017 Z
]

e 27 3

ENGINEEROF DESIGN AND ENVIRONMENT

(203)

/ % (16) dia.

(76)

JaA)

12
(38)

5% (16) cﬂo.f

NN

[T ]

(13)

PLATE A

(203)

\/—5/3 (16) iio.j

1/,
(38)

(76)

[T ]

(13)

PLATE B

(203)

\(/— 5% (16) dia. ﬁy

N

2>
(64)

%

(102)

(13)

PLATE C

10

(254)

\<— T (22) dio.j

N

1/
(38)

N

(76)

(L.

(13)

PLATE D

2
(13)

PLATE E

Varies
1/
1 38
0
1 7% @2
Il dia. _\\\h _
H - } [ee] 8
i \" e
I N
I =
11 8
(203)
Varies . __ . 1
ng (25)
8 | O {—0 8
o NS ule)]
< % (16)—4’(/J[ RE R
— 5/6 (7.9) xx dia.
Gusset A
BRACKET A
7 -
(178) 1Y,
HEED
1
T (22) —|I
dia. | _
I: -z - o0 8
i ‘ s
I <|Q
I =
|
8
(178) R
(25) (25)
& o o N
<|S P J~ <[o
= 5 % L | _\g =
. H\-/<5/6 7.9 70 xx /§ (16) |
Gusset A
BRACKET B
7 (22) dia.
(76) (76)
ol
©iwn
L / )
| - r% “’g o

WEAK POST
TO CULVERT

GUARDRAIL ATTACHED

(Sheet 6 of ©)

STANDARD 630111




	219-630111_WeakPostGuardrailAttachedtoCulvert-025
	219-630111_WeakPostGuardrailAttachedtoCulvert-026
	219-630111_WeakPostGuardrailAttachedtoCulvert-027
	219-630111_WeakPostGuardrailAttachedtoCulvert-028
	219-630111_WeakPostGuardrailAttachedtoCulvert-029
	219-630111_WeakPostGuardrailAttachedtoCulvert-030

